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NO| REtNO | THHETHI£ L&A (FREEFT) REH ¥oPLo13a | #o90-137 | %UPLEF
1 [ 113778 ERHET M= LWvhEL R5.5.2 <15 <10 <25
2| 113779 $RHET RS LHheEL R5.5.2 <15 <10 <25
3] 113780 —BEm KBS LvbhEL R5.5.2 <15 <10 <25
4| 113781 —Rmh KBS LWvbhEL R5.5.2 <15 <10 <25
51 113782 X adii] MR LWhEL R5.5.2 <15 <10 <25
6| 113783 —Bmh RS sl R5.5.2 <15 <10 <25
71 113784 b | ] KBS LbhEL R5.5.2 <15 <10 <25
8| 113785 BE [ KBS LbhEL R5.5.2 <15 <10 <25
9] 113786 EEHm B LvhEL R5.5.2 <15 <10 <25
10] 113787 — P HT RS LHhEL R5.5.8 <15 <10 <25
11 113788 FEEFHT KBS LvbhEL R5.5.8 <15 <10 <25
12 113789 BN KBS LvbhEL R5.5.8 <15 <10 <25
13[ 113790 —Bm XS i< R5.5.8 <15 <10 <25
14[ 113791 ERT RS LHhEL R5.5.8 <15 <10 <25
15[ 113792 H &+t B#BEAEH LvbhEL R5.5.9 <15 <10 <25
16 113793 =EFh KBS LbhEL R5.5.9 <15 <10 <25
17( 113794 =HmH XS i< R5.5.9 <15 11.9 11.9
18[ 113795 Etadit] RS LHhEL R5.5.9 <15 <10 <25
19( 113796 Etadit] B#BEAEH LbhEL R5.5.9 <15 <10 <25
20| 113797 L dit] KBS LWbhEL R5.5.9 <15 <10 <25
21| 113798 =HmH XS i< R5.5.9 <15 <10 <25
22| 113799 Etadit] RS LHhEL R5.5.9 <15 <10 <25
23] 113800 J\IETH B Lvbhil R5.5.9 <15 <10 <25
24| 113801 aFHr KBS LbhEL R5.5.9 <15 <10 <25
25| 113802 AN Rt KBS LWhEL R5.5.9 <15 <10 <25
26| 113803 BN B LWhEL R5.5.9 <15 <10 <25
27( 113804 BN “BAEH Lvbhil< R5.5.9 <15 <10 <25
28| 113805 BAHT A& Lvbhil R5.5.9 <15 <10 <25
29| 113806 BASHT KBS LWhEL R5.5.9 <15 <10 <25
30| 113807 ERHET B LWhEL R5.5.9 <15 <10 <25
31[ 113808 ERHT “BAEH Lvbhil< R5.5.9 <15 <10 <25
32] 113809 ERHT BEEH LbhEL R5.5.9 <15 <10 <25
33| 113810 B BEAEH LbhEL R5.5.9 <15 <10 <25
34| 113811 ER™ KB LWhEL R5.5.9 <15 <10 <25
35[ 113812 ERT “BAEH Lvbhil< R5.5.9 <15 <10 <25
36] 113813 FEIRT BELEH LbhEL R5.5.9 <15 <10 <25
37| 113814 — PP HT BEXEH LWhEL R5.5.9 <15 <10 <25
38| 113815 —Bm MR LWvhEL R5.5.9 <15 <10 <25
39| 113816 —Bmh RS LHhEL R5.5.9 <15 <10 <25
40( 113817 =FHr B#BELEH LbhEL R5.5.9 <15 <10 <25
41 113818 ERT KBS LbhEL R5.5.9 <15 <10 <25
42| 113819 J\IEFEH XS i< R5.5.9 <15 <10 <25
43| 113820 B RS LHhEL R5.5.10 <15 <10 <25
44( 113821 BAHT “BAEH Lvbhil R5.5.10 <15 <10 <25
45( 113822 —Bmh KBS LbhEL R5.5.10 <15 <10 <25
46( 113823 —Bm MR LWhEL R5.5.10 <15 <10 <25
47| 113824 —Bmh RS LHheEL R5.5.10 <15 <10 <25
48[ 113825 —Bmh B#BEAEH LbhEL R5.5.10 <15 <10 <25
49( 113826 —Bmh KBS LvbhEL R5.5.10 <15 10.5 10.5
50| 113827 —Bm B LWhEL R5.5.10 <15 <10 <25
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51| 113828 —Em™ HXLt Lvbhbl R5.5.10 <15 <10 <25
52| 113829 =EFTH HXLt LvbhbL R5.5.10 <15 <10 <25
53| 113830 EEFH H’EXEt LBl R5.5.10 <15 <10 <25
54| 113831 =EH et LvbhbL R5.5.10 <15 <10 <25
55[ 113832 =EFTH st Lvbhb{ R5.5.10 <15 <10 <25
56| 113833 2K HT et Lvbhel R5.5.10 <15 <10 <25
57| 113834 B KT XLt LbhbL R5.5.10 <15 <10 <25
58| 113835 B et LvbhbL R5.5.10 <15 12.9 12.9
59| 113836 ENG st Lvbhbl R5.5.10 <15 <10 <25
60| 113837 — B Hr et Lvbhel R5.5.10 <15 <10 <25
61| 113838 —FHr XLt LbhbL R5.5.10 <15 <10 <25
62| 113839 —FHr et Lvbhbl R5.5.10 <15 <10 <25
63| 113840 —Fm st Lvbhbl R5.5.10 <15 <10 <25
64| 113841 —BmH et Lvbhel R5.5.10 <15 <10 <25
65| 113842 FERAT XLt LBl R5.5.10 <15 <10 <25
66| 113843 b b et LvbhbL R5.5.10 <15 <10 <25
67| 113844 FERET st Lvbhbl R5.5.10 <15 <10 <25
68| 113845 —BmH et Lvbhel R5.5.10 <15 <10 <25
69| 113846 —Ei XLt LvbhbL R5.5.10 <15 <10 <25
70| 113847 BT et LvbhbL R5.5.10 <15 <10 <25
71| 113848 =EH et Lvbhbl R5.5.11 <15 <10 <25
72| 113849 =EFT HXLt Lvbhbl R5.5.11 <15 <10 <25
73] 113850 =BT XLt LbhbL R5.5.11 <15 11.4 11.4
74| 113851 E=EH et Lvbhbl R5.5.11 <15 <10 <25
75| 113852 =EH et LvbhbL R5.5.11 <15 <10 <25
76| 113853 =EFT HXLt Lvbhbl R5.5.11 <15 <10 <25
77| 113854 [ &4 I5HT XLt LbhbL R5.5.11 <15 <10 <25
78| 113855 [ &4 i5HT et Lvbhbl R5.5.11 <15 <10 <25
79| 113856 | &4 IAHT st LvbhbL R5.5.11 <15 <10 <25
80[ 113857 FER™ HXLt Lvbhbl R5.5.11 <15 <10 <25
81| 113858 FERT™ XLt LbhbL R5.5.11 <15 <10 <25
82| 113859 Rt HEXEt LbhBL R5.5.11 <15 <10 <25
83| 113860 | &4 i&HT et Lvbhbl R5.5.11 <15 <10 <25
84| 113861 B BX£t Lvbhil R5.5.11 <15 <10 <25
85| 113862 R ETH et Lvbhbl R5.5.11 <15 <10 <25
86| 113863 B X ett LvbhbL R5.5.11 <15 <10 <25
87| 113864 AFHT et Lvbhbl R5.5.11 <15 <10 <25
88| 113865 aFHr st LvbhbL R5.5.11 <15 <10 <25
89| 113866 aFHr et Lvbhel R5.5.11 <15 <10 <25
90| 113867 FERAT et LBl R5.5.11 <15 <10 <25
91| 113868 FERAT et LvbhbL R5.5.11 <15 <10 <25
92[ 113869 FERET st Lvbhbl R5.5.11 <15 <10 <25
93| 113870 FERHET XLt Lvbhel R5.5.11 <15 <10 <25
94| 113871 FERAT et LBl R5.5.11 <15 <10 <25
95| 113872 FERAT ¥]teit LvbhbL R5.5.11 <15 <10 <25
96| 113873 FERET st Lvbhbl R5.5.11 <15 <10 <25
97| 113874 | &4 IGHT X ett LvbhBL R5.5.11 <15 <10 <25
98| 113875 BEAmT XLt LbhbL R5.5.11 <15 <10 <25
99| 113876 AFHT #]tet Lvbhbl R5.5.11 <15 <10 <25
100| 113877 ™ st Lvbhbl R5.5.11 <15 <10 <25
101] 113878 ™ HXLt Lvbhbl R5.5.11 <15 <10 <25
102| 113879 R XLt LbhbL R5.5.11 <15 <10 <25
103] 113880 AT B}xXett LvbhbL R5.5.11 <15 <10 <25
104 113881 ENG st Lvbhbl R5.5.12 <15 <10 <25
105 113882 NG HXLt LvbhbL R5.5.12 <15 <10 <25
106| 113883 E&™ XLt LbhbL R5.5.12 <15 <10 <25
107| 113884 A=) #]teit Lvbhbl R5.5.12 <15 <10 <25
108| 113885 b et LvbhbL R5.5.12 <15 <10 <25
109 113886 L b g ett LvbheL R5.5.12 <15 <10 <25
110 113887 E&™ et bl R5.5.12 <15 <10 <25
111 113888 A RAT H_KXEt LBl R5.5.12 <15 <10 <25
12| 113889 —Em et Lvbhbl R5.5.12 <15 <10 <25
113 113890 BAET HXLt Lvbhbl R5.5.12 <15 <10 <25
114 113891 BAmT XLt LvbhbL R5.5.12 <15 <10 <25
115 113892 Bt H_KXEt LBl R5.5.12 <15 <10 <25
116 113893 —Em et LvbhbL R5.5.12 <15 <10 <25
117] 113894 NG HXLt Lvbhbl R5.5.12 <15 <10 <25
118] 113895 [ J\IBFEh XLt LbhbL R5.5.12 <15 <10 <25
119] 113896 B et LBl R5.5.12 <15 <10 <25
120 113897 AEEH et LvbhbL R5.5.15 <15 <10 <25
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121] 113898 = E B LWbhBEL R5.5.15 <15 <10 <25
122] 113899 B | ;] B LWbhBS R5.5.15 <15 <10 <25
123] 113900 = FHT A= LWbhBL R5.5.15 <15 <10 <25
124] 113901 — P HT A= LWbhBEL R5.5.15 <15 <10 <25
125| 113902 — P HT ‘A= LWbhBEL R5.5.15 <15 <10 <25
126) 113903 &R ET HRAEH LHBL R5.5.16 <15 <10 <25
127] 113904 FE KT HRXE LS R5.5.16 <15 <10 <25
128] 113905 $ K HT B LWbhBEL R5.5.16 <15 <10 <25
129| 113906 $ K HET A= LWbHBEL R5.5.16 <15 <10 <25
130] 113907 B HAEH LHBL R5.5.16 <15 <10 <25
131] 113908 B HRXE LS R5.5.16 <15 <10 <25
132] 113909 = R AT B LWbhBEL R5.5.16 <15 <10 <25
133] 113910 =17 A= LWbHBEL R5.5.16 <15 <10 <25
134 113911 J\IB HAEH LbHBL R5.5.16 <15 <10 <25
135] 113912 Y&l HRXE LS R5.5.16 <15 <10 <25
136] 113913 BN B LWbhEL R5.5.16 <15 <10 <25
137) 113914 BT ‘A= LWbhBEL R5.5.16 <15 <10 <25
138] 113915 B HAEH LHBL R5.5.16 <15 <10 <25
139 113916 & T HRXE LS R5.5.16 <15 <10 <25
140] 113917 RE A T B LWbHEL R5.5.16 <15 <10 <25
141] 113918 BEff) T A= LWbhBEL R5.5.16 <15 <10 <25
142 113919 B B LWbhBEL R5.5.16 <15 <10 <25
143] 113920 BT HRXE LS R5.5.16 <15 <10 <25
144] 113921 RE A T B LWbHEL R5.5.16 <15 <10 <25
145| 113922 REff) T A= LWbHBEL R5.5.16 <15 <10 <25
146 113923 U&=t B LWbhBEL R5.5.16 <15 <10 <25
147] 113924 —Bm HRXE LWbhie< R5.5.16 <15 <10 <25
148] 113925 ERT B LWbHEL R5.5.16 <15 <10 <25
149] 113926 &R A= LWbHEL R5.5.16 <15 <10 <25
150] 113927 —Bim B LWbhBEL R5.5.16 <15 <10 <25
151] 113928 —Bm HRXE LS R5.5.16 <15 <10 <25
152] 113929 RE A T B LWbhBl R5.5.16 <15 <10 <25
153| 113930 | K A= LWbhBEL R5.5.17 <15 <10 <25
154] 113931 A B LWbhBEL R5.5.17 <15 <10 <25
155| 113932 | K#niE™ BAEH LHBL R5.5.17 <15 <10 <25
156| 113933 | KfiE™ A= LBl R5.5.17 <15 <10 <25
157] 113934 13 F BT B LWbhBEL R5.5.17 <15 <10 <25
158] 113935 1% FRET B’ LWbHBEL R5.5.17 <15 <10 <25
159| 113936 | BERISH™ A LBl R5.5.17 <15 <10 <25
160] 113937 A A= LBl R5.5.17 <15 <10 <25
161] 113938 FEEPHT B LWbhBEL R5.5.17 <15 <10 <25
162] 113939 ax=1. A= LWbHBEL R5.5.17 <15 <10 <25
163 113940 B B’ LBl R5.5.17 <15 <10 <25
164] 113941 B B LWbhBl R5.5.17 <15 <10 <25
165] 113942 RE A T B LWbHBEL R5.5.17 <15 <10 <25
166 113943 = FHT A= LWbhEL R5.5.17 <15 <10 <25
167| 113944 =FHT A= LWhBEL R5.5.17 <15 <10 <25
168] 113945 & T HRXE W< R5.5.17 <15 <10 <25
169] 113946 X 7 B LWbhEL R5.5.17 <15 <10 <25
170] 113947 & T A= LWbHEL R5.5.17 <15 <10 <25
171] 113948 B B LWbhBEL R5.5.17 <15 <10 <25
172] 113949 BT BRXE W< R5.5.17 <15 <10 <25
173] 113950 BT B LWbhEL R5.5.17 <15 <10 <25
174] 113951 BEff) T A= LWbHEL R5.5.17 <15 <10 <25
175] 113952 BERE B LWbhBEL R5.5.17 <15 <10 <25
176] 113953 BE A BRXE W< R5.5.17 <15 <10 <25
177) 113954 —Fmh B LWbHEL R5.5.17 <15 <10 <25
178] 113955 —Fm A= LWbhBEL R5.5.17 <15 <10 <25
179] 113956 FhRHET fXEtt LWhBL R5.5.17 <15 <10 <25
180] 113957 aar=1: FRAEH LoBS R5.5.17 <15 <10 <25
181] 113958 BAHT B LWbhBL R5.5.17 <15 <10 <25
182] 113959 BN A= LWbhBEL R5.5.17 <15 <10 <25
183] 113960 BEHT B LWbhBEL R5.5.17 <15 <10 <25
184) 113961 &=t B LoBL R5.5.17 <15 <10 <25
185 113962 | /\t&Th A= LWbhBL R5.5.17 <15 <10 <25
186] 113963 B o] A= LWbhBEL R5.5.17 <15 <10 <25
187] 113964 — P HT B LWbhBL R5.5.17 <15 <10 <25
188] 113965 —Bm B LWbhoBL R5.5.18 <15 <10 <25
189] 113966 et adii] A= LBl R5.5.18 <15 <10 <25
190 113967 —Bamh A= LWbhBEL R5.5.18 <15 <10 <25
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191] 113968 —Bm™ B LWbhBEL R5.5.18 <15 <10 <25
192 113969 —Bm B LWbhBS R5.5.18 <15 <10 <25
193] 113970 —Bamh A= LWbhBL R5.5.18 <15 <10 <25
194] 113971 —Bamh A= LWbhBEL R5.5.18 <15 <10 <25
195| 113972 BEHT ‘A= LWbhBEL R5.5.18 <15 <10 <25
196) 113973 BEHT HRAEH LHBL R5.5.18 <15 <10 <25
197] 113974 BAHT HRXE LS R5.5.18 <15 <10 <25
198] 113975 BAEHT B LWbhBEL R5.5.18 <15 <10 <25
199| 113976 | /7 IHT A= LWbHBEL R5.5.18 <15 <10 <25
200 113977 | <&/7UGHT HAEH LHBL R5.5.18 <15 <10 <25
201| 113978 | /7 UGHT HRXE LS R5.5.18 <15 <10 <25
202| 113979 | &/ IGHT B LWbhBEL R5.5.18 <15 <10 <25
203 113980 —Bamh A= LWbHBEL R5.5.18 <15 <10 <25
204 113981 —Bim HAEH LbHBL R5.5.18 <15 <10 <25
205 113982 —Bamh HRXE LS R5.5.18 <15 <10 <25
206 113983 —Bamh B LWbhEL R5.5.18 <15 <10 <25
207 113984 —Bamh ‘A= LWbhBEL R5.5.18 <15 19.0 19.0
208 113985 —Bim HAEH LHBL R5.5.18 <15 <10 <25
209 113986 iR HRXE LS R5.5.18 <15 16.7 16.7
210 113987 = R AT B LWbHEL R5.5.18 <15 <10 <25
211 113988 = R AT A= LWbhBEL R5.5.18 <15 <10 <25
212 113989 B B LWbhBEL R5.5.18 <15 <10 <25
213[ 113990 B KT HRXE LS R5.5.18 <15 <10 <25
214 113991 —Fmh B LWbHEL R5.5.18 <15 <10 <25
215 113992 BN A= LWbHBEL R5.5.19 <15 <10 <25
216 113993 B B LWbhBEL R5.5.19 <15 <10 <25
217] 113994 BT HRXE LWbhie< R5.5.19 <15 <10 <25
218 113995 BT B LWbHEL R5.5.19 <15 <10 <25
219 113996 SRR T A= LWbHEL R5.5.19 <15 <10 <25
220 113997 SR IRHET B LWbhBEL R5.5.19 <15 <10 <25
221 113998 SRR T HRXE LS R5.5.19 <15 <10 <25
222| 113999 aax=1: B LWbhBl R5.5.19 <15 <10 <25
223 114000 =11 A= LWbhBEL R5.5.19 <15 <10 <25
224 114001 iR B LWbhBEL R5.5.19 <15 <10 <25
225| 114002 | J\#BFEhH BAEH LHBL R5.5.19 <15 <10 <25
226 114003 — FHT A= LBl R5.5.22 <15 <10 <25
227| 114004 et adii] B LWbhBEL R5.5.22 <15 <10 <25
228 114005 B B’ LWbHBEL R5.5.23 <15 <10 <25
229 114006 B A LBl R5.5.23 <15 10.7 10.7
230 114007 ax=1: A= LBl R5.5.23 <15 <10 <25
231 114008 ax=1: B LWbhBEL R5.5.23 <15 <10 <25
232 114009 REfE A= LWbHBEL R5.5.23 <15 <10 <25
233 114010 B B’ LBl R5.5.23 <15 <10 <25
234| 114011 B B LWbhBl R5.5.23 <15 <10 <25
235 114012 BT B LWbHBEL R5.5.23 <15 <10 <25
236| 114013 | J\#BFhH A= LWbhEL R5.5.23 <15 <10 <25
237| 114014 | J\#BFhH A= LWhBEL R5.5.23 <15 <10 <25
238| 114015 | J\t&FmH HRXE W< R5.5.23 <15 <10 <25
239| 114016 | J\t&FmH B LWbhEL R5.5.23 <15 <10 <25
240 114017 BT A= LWbHEL R5.5.23 <15 <10 <25
241 114018 B B LWbhBEL R5.5.23 <15 <10 <25
242 114019 BT BRXE W< R5.5.23 <15 <10 <25
243| 114020 £ IR BT B LWbhEL R5.5.23 <15 <10 <25
244 114021 e L) A= LWbHEL R5.5.23 <15 <10 <25
245 114022 BERE B LWbhBEL R5.5.23 <15 <10 <25
246 114023 BE A BRXE W< R5.5.23 <15 <10 <25
247| 114024 BT B LWbHEL R5.5.23 <15 <10 <25
248| 114025 BT A= LWbhBEL R5.5.23 <15 <10 <25
249 114026 F EPHT fXEtt LWhBL R5.5.23 <15 <10 <25
250| 114027 BT FRAEH LoBS R5.5.23 <15 11.7 11.7
251 114028 —Fm B LWbhBL R5.5.23 <15 <10 <25
252 114029 —Bamh A= LWbhBEL R5.5.23 <15 <10 <25
253| 114030 BEHT B LWbhBEL R5.5.23 <15 <10 <25
254| 114031 BEHT B LoBL R5.5.23 <15 <10 <25
255| 114032 | /7 UGHT A= LWbhBL R5.5.23 <15 <10 <25
256 114033 BEHT A= LWbhBEL R5.5.23 <15 <10 <25
257] 114034 E B LWbhBL R5.5.24 <15 <10 <25
258 114035 B | ;] B LWbhoBL R5.5.24 <15 <10 <25
259| 114036 = oRET A= LBl R5.5.24 <15 <10 <25
260 114037 (&=l A= LWbhBEL R5.5.24 <15 <10 <25
261 114038 = Er A= LWbhBEL R5.5.24 <15 <10 <25
262 114039 (&=t BREH LbHuL R5.5.24 <15 <10 <25
263 114040 Y& il HRXE W< R5.5.24 <15 <10 <25
264] 114041 et adii] B LWbhEL R5.5.24 <15 <10 <25
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265 114042 = E B LWbhBEL R5.5.24 <15 <10 <25
266 114043 ¥ 5411l B LWbhBS R5.5.24 <15 <10 <25
267 114044 et adii] A= LWbhBL R5.5.24 <15 <10 <25
268 114045 ex=1: A= LWbhBEL R5.5.24 <15 <10 <25
269 114046 FhRHET ‘A= LWbhBEL R5.5.24 <15 <10 <25
270 114047 FHHET HRAEH LHBL R5.5.24 <15 <10 <25
271] 114048 aax=1: HRXE LS R5.5.24 <15 <10 <25
272 114049 ax=1: B LWbhBEL R5.5.24 <15 <10 <25
273 114050 FhRHET A= LWbHBEL R5.5.24 <15 <10 <25
274 114051 FHHET HAEH LHBL R5.5.24 <15 <10 <25
275| 114052 | /7 IGHT HRXE LS R5.5.24 <15 <10 <25
276| 114053 | &/ IGHET B LWbhBEL R5.5.24 <15 <10 <25
277| 114054 | <&/ URHT BRXEH LWbhBL R5.5.24 <15 <10 <25
278| 114055 | <&/ UGHT HAEH LbHBL R5.5.24 <15 <10 <25
279| 114056 =FHT HRXE LS R5.5.24 <15 <10 <25
280 114057 &= FHT B LWbhEL R5.5.24 <15 <10 <25
281 114058 = FHT ‘A= LWbhBEL R5.5.24 <15 <10 <25
282 114059 =FHT HAEH LHBL R5.5.24 <15 <10 <25
283| 114060 — FHT HRXE LS R5.5.24 <15 <10 <25
284 114061 — FHT B LWbHEL R5.5.24 <15 <10 <25
285 114062 — P HT A= LWbhBEL R5.5.24 <15 <10 <25
286 114063 — P HT B LWbhBEL R5.5.24 <15 <10 <25
287 114064 — P HT HRXE LS R5.5.24 <15 <10 <25
288 114065 — FHT B LWbHEL R5.5.24 <15 <10 <25
289 114066 — P HT A= LWbHBEL R5.5.24 <15 <10 <25
290 114067 &R T B LWbhBEL R5.5.24 <15 <10 <25
291 114068 KHaHT HRXE LWbhie< R5.5.24 <15 <10 <25
292| 114069 —Bamh B LWbHEL R5.5.25 <15 <10 <25
293 114070 —Bamh A= LWbHEL R5.5.25 <15 <10 <25
294 114071 —Bim B LWbhBEL R5.5.25 <15 <10 <25
295 114072 —Bm HRXE LS R5.5.25 <15 <10 <25
296| 114073 —Bamh B LWbhBl R5.5.25 <15 <10 <25
297 114074 —Bamh A= LWbhBEL R5.5.25 <15 <10 <25
298 114075 —B8mh B LWbhBEL R5.5.25 <15 <10 <25
299 114076 | /7 IGHT BAEH LHBL R5.5.25 <15 <10 <25
300 114077 | FEFOIEMET A= LBl R5.5.25 <15 <10 <25
301| 114078 | FEFIEHMET B LWbhBEL R5.5.25 <15 <10 <25
302| 114079 | FEFIEHHET B’ LWbHBEL R5.5.25 <15 <10 <25
303 114080 —Bm A LBl R5.5.25 <15 <10 <25
304 114081 —Bamh A= LBl R5.5.25 <15 <10 <25
305 114082 &R B LWbhBEL R5.5.25 <15 <10 <25
306 114083 iR A= LWbHBEL R5.5.25 <15 <10 <25
307[ 114084 iR B’ LBl R5.5.25 <15 <10 <25
308| 114085 | FEFIEMET B LWbhBl R5.5.25 <15 <10 <25
309| 114086 | FEFIEMET B LWbHBEL R5.5.25 <15 <10 <25
310[ 114087 U (Z=Ait] A= LWbhEL R5.5.25 <15 <10 <25
311 114088 U&=t A= LWhBEL R5.5.25 <15 <10 <25
312 114089 —Bm HRXE W< R5.5.25 <15 <10 <25
313| 114090 —Bamh B LWbhEL R5.5.25 <15 <10 <25
314 114091 — P HT A= LWbHEL R5.5.25 <15 <10 <25
315| 114092 | FEFIEFHET B LWbhBEL R5.5.25 <15 <10 <25
316 114093 A RAT BRXE W< R5.5.26 <15 <10 <25
317 114094 = R HAT B LWbhEL R5.5.26 <15 <10 <25
318 114095 FA 55 40 A4 A= LWbHEL R5.5.26 <15 <10 <25
319 114096 &R AT B LWbhBEL R5.5.26 <15 <10 <25
320| 114097 A RAT BRXE W< R5.5.26 <15 <10 <25
321] 114098 = R AT B LWbHEL R5.5.26 <15 <10 <25
322| 114099 | </ IFHET A= LWbhBEL R5.5.26 <15 <10 <25
323[ 114100 | /7 IGHT fXEtt LWhBL R5.5.26 <15 <10 <25
324| 114101 /7 BT FRAEH LoBS R5.5.26 <15 <10 <25
325| 114102 | <=/7UGHT B LWbhBL R5.5.26 <15 <10 <25
326| 114103 (&=t A= LWbhBEL R5.5.26 <15 <10 <25
327] 114104 Y Z=A7] B LWbhBEL R5.5.26 <15 <10 <25
328 114105 —Bm B LoBL R5.5.26 <15 <10 <25
329 114106 BAHT A= LWbhBL R5.5.26 <15 <10 <25
330[ 114107 —Bamh A= LWbhBEL R5.5.26 <15 <10 <25
331| 114108 —Bm™ B LWbhBL R5.5.26 <15 <10 <25
332 114109 ¥ 5411l B LWbhoBL R5.5.26 <15 <10 <25
333| 114110 | J\#&FhH A= LBl R5.5.26 <15 <10 <25
334 114111 BEHT A= LWbhBEL R5.5.26 <15 <10 <25
335| 114112 | /7 IGHT BEXEt LWbhBEL R5.5.29 <15 <10 <25
336| 114113 — P HT BREH LbHuL R5.5.29 <15 <10 <25
337] 114114 = FHT HRXE W< R5.5.29 <15 <10 <25
338 114115 et adii] B LWbhEL R5.5.30 <15 <10 <25
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339 114116 $2 K HET B LWbhBEL R5.5.30 <15 <10 <25
340 114117 &=l B LWbhBS R5.5.30 <15 <10 <25
341 114118 Y= il A= LWbhBL R5.5.30 <15 <10 <25
342 114119 FE KT A= LWbhBEL R5.5.30 <15 <10 <25
343 114120 $ K HET ‘A= LWbhBEL R5.5.30 <15 <10 <25
344 114121 B KT HRAEH LHBL R5.5.30 <15 <10 <25
345| 114122 13 A BT HRXE LS R5.5.30 <15 <10 <25
346 114123 13 F BT B LWbhBEL R5.5.30 <15 <10 <25
347 114124 | J\BEFhH A= LWbHBEL R5.5.30 <15 <10 <25
348| 114125 | J\#BFhH HAEH LHBL R5.5.30 <15 <10 <25
349 114126 | J\#&FhH HRXE LS R5.5.30 <15 <10 <25
350 114127 | J\B&Fh B LWbhBEL R5.5.30 <15 <10 <25
351 114128 = R AT A= LWbHBEL R5.5.30 <15 <10 <25
352 114129 SRR T HAEH LbHBL R5.5.30 <15 <10 <25
353| 114130 SRR T HRXE LS R5.5.30 <15 <10 <25
354 114131 e L] B LWbhEL R5.5.30 <15 <10 <25
355 114132 BT ‘A= LWbhBEL R5.5.30 <15 <10 <25
356 114133 B HAEH LHBL R5.5.30 <15 <10 <25
357] 114134 B HRXE LS R5.5.30 <15 <10 <25
358 114135 BAHT B LWbHEL R5.5.30 <15 <10 <25
359 114136 BEHT A= LWbhBEL R5.5.30 <15 <10 <25
360 114137 BEHT B LWbhBEL R5.5.30 <15 <10 <25
361 114138 BAH HRXE LS R5.5.30 <15 <10 <25
362| 114139 13 FH BT B LWbHEL R5.5.30 <15 <10 <25
363] 114140 R A= LWbHBEL R5.5.30 <15 <10 <25
364 114141 &R AT B LWbhBEL R5.5.30 <15 <10 <25
365 114142 =FHT HRXE LWbhie< R5.5.30 <15 <10 <25
366 114143 BAHT B LWbHEL R5.5.30 <15 <10 <25
367 114144 = FHT A= LWbHEL R5.5.30 <15 <10 <25
368| 114145 | J\#BFhH B LWbhBEL R5.5.30 <15 <10 <25
369 114146 | J\#BFEH HRXE LS R5.5.30 <15 <10 <25
370 114147 BAHT B LWbhBl R5.5.30 <15 <10 <25
371 114148 &R A= LWbhBEL R5.5.30 <15 <10 <25
372 114149 AEE™ B LWbhBEL R5.5.31 <15 <10 <25
373[ 114150 AEET BAEH LHBL R5.5.31 <15 <10 <25
374 114151 —Bamh A= LBl R5.5.31 <15 <10 <25
375 114152 —Bamh B LWbhBEL R5.5.31 <15 <10 <25
376 114153 —Bamh B’ LWbHBEL R5.5.31 <15 <10 <25
377] 114154 —Bm A LBl R5.5.31 <15 <10 <25
378| 114155 —Bamh A= LBl R5.5.31 <15 <10 <25
379 114156 —Bamh B LWbhBEL R5.5.31 <15 <10 <25
380 114157 —Bamh A= LWbHBEL R5.5.31 <15 <10 <25
381 114158 —Bm B’ LBl R5.5.31 <15 <10 <25
382| 114159 —PBamh B LWbhBl R5.5.31 <15 <10 <25
383| 114160 —Bamh B LWbHBEL R5.5.31 <15 <10 <25
384 114161 —Bamh A= LWbhEL R5.5.31 <15 <10 <25
385 114162 AEET A= LWhBEL R5.5.31 <15 <10 <25
386 114163 FEPHT HRXE W< R5.5.31 <15 <10 <25
387| 114164 i FPHT B LWbhEL R5.5.31 <15 <10 <25
388 114165 iR A= LWbHEL R5.5.31 <15 <10 <25
389 114166 IR B LWbhBEL R5.5.31 <15 <10 <25
390 114167 iR BRXE W< R5.5.31 <15 <10 <25
391) 114168 | /7 ISKHT B LWbhEL R5.5.31 <15 <10 <25
392| 114169 | /7 UGHT A= LWbHEL R5.5.31 <15 <10 <25
393| 114170 | <&/7UGHT B LWbhBEL R5.5.31 <15 <10 <25
394 114171 BT BRXE W< R5.5.31 <15 <10 <25
395| 114172 = FHT B LWbHEL R5.5.31 <15 <10 <25
396 114173 =T A= LWbhBEL R5.5.31 <15 <10 <25
397( 114174 RERA T fXEtt LWhBL R5.5.31 <15 <10 <25
398 114175 RE A FRAEH LoBS R5.5.31 <15 <10 <25
399 114176 RE A T B LWbhBL R5.5.31 <15 <10 <25
400 114177 et adii] A= LWbhBEL R5.5.31 <15 <10 <25
401 114178 = EF B LWbhBEL R5.5.31 <15 <10 <25
402 114179 BEHT B LoBL R5.5.31 <15 <10 <25
403| 114180 BAHT A= LWbhBL R5.5.31 <15 <10 <25
404 114181 BEHT A= LWbhBEL R5.5.31 <15 <10 <25
405 114182 U&= 7] B LWbhBL R5.5.31 <15 <10 <25
406 114183 | /7 IGHT B LWbhoBL R5.5.31 <15 <10 <25
407| 114184 BAHT A= LBl R5.5.31 <15 <10 <25
408 114185 BEHT A= LWbhBEL R5.5.31 <15 <10 <25
409 114186 = FHT A= LWbhBEL R5.5.31 <15 <10 <25




2 AARROBREHR

BEEN 40988
E (B (100Bg/kg) LLF 40988
E # 15 (100Bg/ke) B 05E

3 SHISFEICLBLEFORERR

REEEH 80488
E (B (100Bg/kg) LT 80458
E # 15 (100Bg/ke) B 58

4 FR2UFAANMTHSEIAICLBLEFDRERR

BREEH 104,15788
EAE{E (100Bg/kg) LLF 104,15758
H #45 (100Bg/kg) #2 58
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